Datasheet
Greae nipple
assortments

m UMETA GREASE NIPPLE ASSORTMENTS

Sort 80
o %
= o
. o) 0
'{5‘:;:';"-:— '-“{’”A . *\&;@1
b 4 S
G}?j >
Sort 170
e i % .ﬂr_
i . :
i S
PR L Sl e
sy Mg S
E T
R,
Vi
Sort 350

UMETA Hermann Ulrichskotter
Metallwarenfabrik GmbH Co. KG
Almestr. 1 -3

D-33649 Bielefeld

November 2019

MADE IN
GERMANY &

UMETA's variety of grease nipple attachments can be trusted
to always have the right one available.
The kits carry an assortment that should cover all
application purposes.

Sort 80 Sort 170 Sort 350
consisting of:
Art.-Nr.: UMETA-Type 6008100 6017140 6035140
1100704 H1, M 15 40 50
1100907 H1,M8x1,0 15 30 40
1101109 H1,M10x1,0 10 20 35
1101156 H1, R1/8° 10 15 30
1101457 H1, R1/4 10 15
1204504 H2, M6 5 5 25
1204507 H2,M8x1,0 5 5 20
1204709 H2,M10x1,0 5 5 15
1204756 H2 R1/8" 5 15
1201457 H2, R1/4 10
1304504 H3, M6 5 5 20
1304507 H3,M8x1,0 5 5 15
1304709 H3,M10x1,0 5 5 15
1304756 H3, R 1/8" 5 15
1301457 H 3, R 1/4 15
4101709 M1, M10x 1,0 5 5
4101761 M1, G1/8" 5
4101762 M1, G 1/4" 5
4302262 M 22, G 1/4* 5
7351311 515/G,M 10x 1 2
Total number of pieces 80 170 350
dimension (L x W x H) in cm 16,5x10,5x3 [24,5x16,5x4 [25x18x4,5
stainless steel 1.4305 /ASTM303|Sort 80 - V2A[Sort 170-V2A| Sort 350-V2A
consisting of: [ AISI 303 / AISI 303 / AISI 303
Art.-Nr.: UMETA-Type 6008102 6017141 | upon request
1120704 H1,M6x1,0 15 40
1120907 H1,M8x1,0 15 30
1121109 H1,M10x1,0 10 20
1121156 H1 R1/8" 10 15
1121457 H1, R 1/4" S 10
1220904 H2, M6 5 5
1220907 H2,M8x1,0 5 5
1221109 H2,M10x1,0 5 5
1221156 H2 R1/8" 5
1320904 H3, M6 5 5
1320907 H3,M8x1,0 5 5
1321109 H3,M10x1,0 5 5
1321156 H3, R 1/8" 5
4121709 M1, M10x1,0 5
4121761 M1, G1/8" ---- 5
4121762 M1, G 1/4" 5
Total number of pieces 80 170 350
dimension (L x W x H) in cm 16,5x10,5x3 |24,5x16,5x4 |25x18x4,5

info@umeta.com
Www.umeta.com




Datasheet November 2019
Greae nipple

assortments MADE IN
/ GERMANY =

m The grease nipple types at a glance:

H3

UMETA Hermann Ulrichskotter
Metallwarenfabrik GmbH Co. KG

Almestr.1-3 info@umeta.com

D-33649 Bielefeld WG make i’ move- www.umeta.com



